EARAROBEEIERT — 2 N— IBISH —F

2018510878 (B) 4EIFZ2H

R REXA

REEF 4t [HETE] i

‘ [R1%] & ‘ [REBE] — | Z (%) 16000 B

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o 2 | tAER— 1:33.8 5-3 34.3| 842 | 3 490 | BERANME (SEiA)
1 6| AT1T—7tLUZEZX # 54.0 (-) (6 |BBREHI Y
LN—=v934 B:XA=TrYa7 J—HrTr—LA
S 2 | J. ELAT 1:34.0 8-9 33.9| 82.2 | 1 430 | ERIFIA ()
2 10 EON NN YN i 54.0 (1 1/4) (+4) (72) HBEL—-RXK-—X
R:F4=TA>N07 b+ B:vy—<Iv7 HE77—L
Ry o2 | BRI 1:34.2 6-6 34.4|79.9 | 7 438 | EEEZ ()
3/5/|8 I K—Y4 54.0 (1 1/4) o) ZLRHHE
R:Z— MR B:oqsvia HET7—L4L
. FiBEX : - S ()
al1lq | vETIE=7 i 2 Bl 1.(334).7 11-12 | 34.2| 746 | 6 ::320) g
R:7A7% B:T77—ANFIT Lalzt e
= RN B2 | BEAEMRS 1:34.8 1-11 | 34.5| 735 | 11 | 456 |/NEFRER (EiH)
58|14 P71 71 bEF> 54.0 (3/4) (o) | EBRZE
24 FxSv ML B:77LT775 TS
S, o 4 2 | ARG 1:35.0 8-8 35.0| 71.5 | 5 476 | L= (EH)
EEH U/ F=Tax %53.0 (1 1/4) o) |RHEUT
RV RKYZYAIR B:RUITLF—7 757 BEkS
S AEEH : — BRER (EH
705l gl EXTUFT Y it 2 TER 1(/3%) 6-6 35.2| 70.8 | 10 zz(z)gs amey
RA-JZXA2 214 B:TU EREY 21— RS
¢ v K 4 2 | HEEKXH 1:35.2 2-2 35.9| 67.7 | 4 306 | mFEH (EH)
Eﬂ7 TAIVRF—F v R £4.0 (1 1/4) o) | @) FITLIEIST - 5T4T
STAWNTTFY— B:vAxAHMLT EvJdLy RT7p—L
3 . # 2 | FR—H 1:35.4 3-3 36.0| 65.8 | 12 442 | BRERE ()
9| 8|15 T/NA=B LT v A £52.0 0 174 o | a4
RivayFrhrT BUXLFTHLLL HET7— L
S o | HlFnsE 1:35.5 8-9 35.3|66.2 | 8 480 |AZERER (5EiH)
h—t>any 28 i g | BllEEE
L:ovXa27z4 B:oa—bNCKR B—L— - TxIN> - T7—LARSE
N . HIDEE : - LRIES (E#
=3R4 —A1) it 2 =3 1(/3&;5 1-1 36.3| 65.1 | 2 ;1_9;4) LRz
/TN B2/ F—=Xa-) i &R
2 . # 2 | BHPBE 1:35.9 13-13 [ 35.1| 62.1 | 13 468 | KERE— (i)
Al A m 2 54.0 (2 1/2) -2) (H)EF TU
L:29)—>ke—0— B:T7IXAT149%741 =3
. 2 | ARtER 1:36.2 3-3 36.8| 58.8 | 9 434 | RIIEZE (i)
a[/AKRy 7L #t 54.0 2) ta) | B) EvTLyRT7—A
RiFkivH/FkEF BTITU-AL EvdlLy RT7—L4
2 | AllEitA — 14-14 — = 14 44 FINAR (Eil
T—AE X e 54.0 (shik) (_f) HAILIES
LN—ErTv— B:ehlvTEX BRI
s NN BHEXtT - - - - - — | EHBA (E#
N 2G4 XE L % 2 252.0 () (—) ;E:J?%
LECTRYY BYxrLi— KEHE
@ 21 L
£ 46.7-34.6
NA>ZA LA | 12.4-11.2-11.5-12.0-12.1-11.6-11.2-11.8
® 1—F—@EBIERL
13—7F-
Pal=5F=
Jo=5r= 3,7(5,15)6(8,9) (2,10,11) (1,14)12=4 13
40 —F— 3,7(5,6,15)-(8,9)11(2,10)14,1,12=4 13
[ N5
B 6 540M 714K 6-10 270 e E 4-6 290 JEE 6-8-10 2,640
# B 6 170 6-8 1,410 B = 6-10 490M 3EE 6-10-8 12,830H
10 110 8-10 620M B H 6-10 1,320
8 320M

ABICOVWTRDTEEERROODE. TR LIV,




